
Subject: Re: GuiLock Example broken
Posted by masu on Fri, 21 Aug 2009 12:43:21 GMT
View Forum Message <> Reply to Message

luzr wrote on Fri, 21 August 2009 14:33Actually, if correct __thread is not available, U++ allocator
cannot work in MT.

I know, thats why I get problems on OpenBSD (at least I think so, at the moment).

luzr wrote on Fri, 21 August 2009 14:33Maybe you should just USEMALLOC then... In any case,
to stay on the safe side, you TLS implementation should use malloc/free (and maybe then you
could use such TLS to make U++ allocator work, although any positive effects will be likely
diminished by slow TLS).

Ok, thanks for the advice.

Matthias
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